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UIL Accounting

Invitational 2003-B

Group 1

Indicate the classification of items 1 through 8 by writing the correct identifying letter on your answer sheet and indicate the decrease side of the account by writing DR for debit or CR for credit.  Both parts of each compound answer must be correct in order for your response to be counted correct.



A. Asset
D. Revenue




DR=debit



B. Liability
E. Cost of Merchandise Sold

CR=credit



C. Capital
F. Expense

1. the value of supplies available for use next fiscal period

2. Sales Returns & Allowances

3. the amount owed to a supplier

4. Sales

5. Purchases Discounts

6. the amount withdrawn from the business by the owner for personal use

7. the value of insurance used this fiscal period

8. Merchandise Inventory

Group 2

For each account title in questions 9 through 15, write the identifying letter of the correct response (A, B, or C) which indicates whether each account should be closed and where, or if it should not be closed at all.  If the account is to be closed, indicate whether that account is closed with a debit or a credit.  Use the following sets of codes.  An answer might appear in this way:
B  DR





A. closed into Income Summary
DR=debit





B. closed into the capital account
CR=credit





C. not closed

  9. Sales Discounts

10. Miscellaneous Expense

11. Julie Rosoco, Drawing

12. Accounts Receivable

13. Purchases Returns & Allowances

14. Sales Tax Payable

* 15.  Income Summary (when beginning inventory was $8,000; ending inventory was 

         $7,000; and there was a net income of $15,000.) (Revenues and expenses have 

         already been closed.)

Group 3

Selected information from the work sheet of Seymour Company is shown below.  For questions 16 through 18, write the correct amount on your answer sheet.

	ACCOUNT TITLE
	TRIAL  BALANCE
	ADJUSTED TRIAL BALANCE

	                                                            
	DEBIT
	CREDIT
	DEBIT
	CREDIT

	Prepaid Insurance
	        #16
	
	     1,250
	

	Supplies
	      1,180 
	
	        640
	

	Merchandise Inventory
	    10,670 
	
	       #17
	

	Income Summary
	
	
	    
	      3,475

	Insurance Expense
	
	
	     1,175
	

	Supplies Expense
	
	
	        #18
	


Group 4

In questions 19 through 24, determine the correct column or columns of the work sheet for the year ended December 31, 2002 in which each of the following belongs using the code:


A. Trial Balance debit


E. Income Statement debit


B. Trial Balance credit

F. Income Statement credit


C. Adjustments debit


G. Balance Sheet debit


D. Adjustments credit

H. Balance Sheet credit

19. The Balance Sheet column used to write the amount of net loss
20. The amount of Office Supplies available for use next fiscal period
21. Prepaid Insurance on January 1 plus any premiums paid in 2002
22. The column to which Purchases Discounts is extended
23. The Income Statement column used to write the amount of net income

*24. On the line for Income Summary, the amount of decrease in inventory during the 


period

Group 5

For question 25, write the correct amount on your answer sheet.

 *25. Baird Company has three employees who are paid weekly as follows:

	Lana Freeman
	$9.00 per hour with overtime over 40 hours at time and a half

	Aisha Dade
	$850 salary per week

	Bill Sims
	$350 salary per week plus 6% commission on sales


Last week Lana worked 52 hours and Bill sold $12,750 of merchandise.  What is the total gross pay for the week on the Payroll Register for all three employees?

Group 6

The following is an unorganized list of the steps in the accounting cycle.  Answer questions 26 through 31 based on the correct order. On your answer sheet, write True if the statement is true, write False if the statement is false.


Item #

Unorganized List
1 Journalize each transaction.

2 Review source documents and analyze transactions.

3 Prepare the worksheet.

4 Post transactions to the general ledger.

5 Prepare financial statements from the work sheet.

6 Journalize and post closing entries.

7 Journalize and post adjusting entries.

8
           Prepare Post-Closing Trial Balance
26. Item 2 should take place before Item 1.

27. Items 3 and 4 are listed in reverse order.

28. The unadjusted trial balance is prepared as a part of Item 3.

29. Item 4 should take place before Item 1.

30. Item 6 should take place before Item 7.

31. Item 8 is a part of Item 3.

Group 7

On June 30, Jay Houston, owner of Houston Co., received a bank statement dated June 28.  After he compared the company’s checkbook records with the bank statement, Jay found the following:

1.  The June bank statement shows an ending balance of $857.15.

2.  The statement shows a bank service charge of $7.50.

3.  A check from Richard Bankston for $158 that was deposited in the Houston Co. account on June 27 was returned by the bank. (This was first discovered upon

receipt of the bank statement.)

4.  A deposit of $1200 was made on June 27 but does not appear on the bank statement.

5.  These checks do not appear on the bank statement:



Check 1102 for $11.75
Check 1107 for $287.69



Check 1103 for $188.90
Check 1109 for $300.00

For questions 32 and 33, write the correct amount on your answer sheet.

32. What is the reconciled (adjusted) bank balance on June 30?

 *33. What was the balance in the checkbook immediately before the bank reconciliation 

      was prepared?

Group 8

Use the following data for questions 34 through 38.  Following are all the accounts (except capital) of the Austin Co. as of the end of the fiscal year after adjustments.  All accounts have normal balances.  Austin made one owner investment during the year of $4,000.  Mark the identifying letter of the best response on your answer sheet.

	Account  Title
	Amount
	
	Account Title
	Amount

	Accounts Payable
	   16,150
	
	Rent Expense
	    4,200

	Accounts Receivable
	   20,490     
	
	Revenue
	  50,650

	Advertising Expense
	     3,962
	
	Salary Expense
	  27,870

	Alton Austin, Drawing
	   10,000
	
	Supplies
	    1,450

	Cash in Bank
	   18,725
	
	Supplies Expense
	    2,655


34. What is the balance in the capital account at the end of the fiscal year before closing 

entries are posted?

A.  zero     B. $18,552     C. $22,552     D. $24,515     E. $26,552

*35. What was the balance in the capital account at the beginning of the fiscal year?

A.  zero     B. $14,552     C. $18,552     D. $22,552     E. $24,515

36. What was the net income for the year?

A. $1,963      B. $10,513        C. $11,963         D. $50,650




*37. What was the capital account balance at the end of the fiscal year after closing 

entries?

A.  $20,515     B. $24,515     C. $26,478     D. $28,515     E. $34,515

38. What is the amount of total assets?

      A. $16,150      B. $39,215      C. $40,665     D. $50,665

Group 9

Use the following information for questions 39 and 40 and write the correct amounts on your answer sheet.  Payroll tax expense per employee is based on the following:

	Social Security
	6.2% on gross earnings up to $80,400

	Medicare
	1.45% on all earnings

	Federal Unemployment Tax
	.8% on first $7,000 of gross earnings

	State Unemployment Tax
	1.95% on first $9,000 of gross earnings


  *39. An employee has cumulative gross wages of $6,500 in the first quarter.  In the 


second quarter, if the current gross wages are $2,000, what is the total amount


of payroll tax expense on this employee for the second quarter only?

  *40. A second employee has cumulative gross wages of $8,700 in the first quarter.  In


the second quarter, if current gross wages are $2,500, what is the total amount of


payroll tax expense on this employee for the second quarter only?

Group 10

The Silver Spur Co. is located in San Angelo, Texas.  The following are some of their  invoices for merchandise purchased on account in 2002:

	Company
	Location
	Invoice

 Date
	Terms
	Total 

Merchandise
	Merchandise

Returned

	Adams Co.
	New Orleans
	9-24-02
	2/10,n/30
	$7,800
	$450

	Baylor Designs
	Waco
	11-28-02
	1/15,n/60
	$2,750
	$760


	# of Days in the Month

	Sept 30
	Dec 31

	Oct 31
	Jan 31

	Nov 30
	


For questions 41 through 47 write YES if the answer is yes; write NO if it is no.

Questions 41 through 43 refer to the invoice from Adams Co.

>>>Transportation costs were $240 FOB shipping point.

41. Is October 4, 2002 the due date of the discount period?

42. Is the amount of the discount $735.00?

43. If paid after the discount due date, is the correct amount of the check $7,443.00?

Questions 44 through 47 refer to the invoice from Baylor Designs.

>>>Transportation costs were $127 FOB destination.

44. Is the due date January 27, 2003 if not paid within the discount period?

45. Is the correct amount of the discount $412.50?

*46. If paid within the discount period, is the correct amount of the check $1,961.50?

 *47. If not paid within the discount period, is the correct amount of the check $1,990.00?

Group 11

For questions 48 through 53, write the identifying letter of the best response on your answer sheet.  Dayton Co. has a change fund of $200.  Each Monday morning the cash drawer has exactly $200 in currency and coins.  For each of the four weeks in the month of October, the following information is known:

	Week
	Cash Sales
	Sales Tax Collected
	Collected from Customers on Account
	Cash in drawer at end of week

	1
	610.80
	50.39
	162.00
	1,025.60

	2
	740.20
	61.06
	145.00
	1,145.10

	3
	580.40
	47.88
	205.00
	1,032.80

	4
	820.30
	67.67
	155.00
	1,245.10


48. The total sales for the month of October are:


A. $1,951.70     B. $2,751.70     C. $2,978.70     D. $3,645.70     E. $4,448.60

49. By what amount was a liability account increased for the month of October?


A. $0.00     B. $2.90     C. $227.00     D. $667.00

50. By what amount was an asset account decreased for the month of October?


A. $0.00     B. $227.00     C. $667.00     D. $800.00

51. For week #1, the cash fund was over or short and by what amount?



Amount
      Over/Short

A. $2.41

     
over


B. $2.41

     
short


C. $2.90

     
over


D. $2.90

     
short


E. $200.00
     
over


F.  zero

    
neither

*52. The sales tax rate is


A. 5%     B. 7.75%     C. 8%     D. 8.25%     E. 8.75%

*53. For the month of October, the cash fund was over or short and by what amount?



Amount
Over/Short

A.   zero

  neither


B.  $1.16

   short


C.  $2.41               over


D.  $2.90    
    over


E.  $800.00
    over

Group 12

Use the following information to answer questions 54 through 59.  Write the identifying letter of the best response on your answer sheet.

	Sales
	85,940
	
	Net Income
	3,867

	Cost of Mdse Sold
	46,057
	
	Transportation In
	3,842

	Purchases
	43,765
	
	Purchases Returns & Allow.
	2,005

	Beginning Inventory
	14,850
	
	Sales Discounts
	3,847

	Purchases Discounts
	1,685
	
	Sales Returns & Allow.
	2,685


54. Net sales are:


A. $40,075

D. $85,940


B. $79,408

E. $92,472


C. $82,250

 *55. Cost of merchandise available for sale is:


A. $43,917

D. $58,767


B. $51,083

E. $62,457


C. $54,925

56. Cost of delivered merchandise is:


A. $3,842

D. $47,607


B. $31,207

E. $62,457


C. $43,917

57. Net purchases are:


A. $40,075

D. $43,917


B. $43,765

E. $47,455


C. $43,613

 *58. Ending inventory is:


A. $2,140

D. $12,710


B. $5,026

E. $16,400


C. $8,868

 *59. Total expenses are:


A. $29,484

D. $37,218


B. $32,326

E. $42,548


C. $36,016

Group 13

Use the following information to answer questions 60 through 66.  On your answer sheet write True if the statement is true; write False if the statement is false.

General Ledger:                           Accounts Payable
	
	75,490              (5-1-02)

	
	

	(May 2002)____?_____
	____?____  (May 2002)

	
	

	
	  48,830            (5-31-02)

	
	


Accounts Payable Subsidiary Ledger:

           Worth Company                                 Debit
      Credit          Balance

	5-1-02
	
	
	26,450

	May 2002
	____?____
	11,800
	21,410


           Tyler Company
  

       Debit
      Credit
     Balance

	5-1-02
	
	
	35,010

	May 2002
	____?____
	8,750
	____?____


           Cisco Company 


       Debit
      Credit
     Balance

	5-1-02
	
	
	____?____

	May 2002
	16,720
	14,210
	____?____


60. The total paid to Worth Company in May was $16,840.

61. The total credits to the general ledger controlling account during May were

       $37,460.

62. The total payments on account for May were $61,420.

63. The balance of Accounts Payable that appeared on the May 1, 2002 balance

       sheet was $75,490.

64. The May 1 balance owed to Cisco Company was $11,520.

65. The May purchases on account from Worth Company were $16,840.

66. For May, total purchases on account did not exceed total payments on account.

For questions 67 and 68 refer to the above information.  Write the correct amount on your answer sheet.

*67. What was the amount owed to Cisco Company on May 31?

*68. What was the amount owed to Tyler Company on May 31?

Group 14

Answer questions 69 through 79 (shown in the corrected trial balance columns) and question 80 (at the bottom of this page) by writing the correct amount on your answer sheet.

An examination of the journals and ledger revealed the following errors in the trial balance below:

1. A customer’s sale on account for $65 plus sales tax of $5.36 was recorded as follows:  

   credit $65 to Sales; credit $5.36 to Sales Tax Payable; and debit Accounts Payable $70.36.

2. A $650 collection of an account receivable was journalized as $560. 

3. When the new fire insurance policy was purchased by check for $875, the debit was made to

     Insurance Expense instead of the prepaid expense account.

4. A new piece of equipment was purchased on account with a debit to Office Supplies and a 

    credit to Accounts Payable for $1,080.

5. A $425 payment of an account payable was recorded with a credit to Cash in Bank for $425 and 

    a credit to Accounts Payable for $452.

6. Sales on account for $900 plus sales tax of $74.25 was recorded correctly except the credit to 

    Sales was only $90.

7. An investment made by the owner was debited to Cash for $5,000 correctly, but the credit was 

    not posted.

8. All purchases of merchandise for the year had been debited to Merchandise Inventory.  The 

    beginning inventory was $25,610.

9. The bookkeeper had transposed the Sales Tax Payable balance when writing it in the Trial 

    Balance column of the work sheet.  The balance should be written $1,275.

10. A $500 payment to a creditor on account was debited to Accounts Receivable and credited to 

      Cash in Bank.

11. An owner’s withdrawal of cash for $750 was credited correctly but was debited to the capital 

      account.

12. In order to get the trial balance to balance, the bookkeeper “plugged” the difference into 

      Income Summary.

	
	Trial

 Balance
	
	Corrected Trial Balance

	Account
	Debit
	Credit
	
	Debit
	Credit

	Cash in Bank
	8,360.00
	
	
	#69
	

	Accounts Receivable
	5,369.64
	
	
	#70
	

	Merchandise Inventory
	70,570.00
	
	
	#71
	

	Prepaid Insurance
	1,625.00
	
	
	
	

	Office Supplies
	1,660.00
	
	
	#72
	

	Equipment
	27,370.00
	
	
	#73
	

	Accounts Payable
	
	11,956.64
	
	
	#74

	Sales Tax Payable
	
	2,175.00
	
	
	#75

	May Cameron, Capital
	
	25,785.00
	
	
	#76

	May Cameron, Drawing
	9,250.00
	
	
	#77
	

	Income Summary
	
	4,033.00
	
	
	

	Sales
	
	81,130.00
	
	
	#78

	Purchases
	
	
	
	
	

	Office Supplies Expense
	
	
	
	
	

	Insurance Expense
	875.00
	
	
	#79
	

	
	125,079.64
	125,079.64
	
	
	


***80. After all corrections have been made, what is the balancing total of the corrected


Trial Balance?

This is the end of the exam.  Please hold your exam and answer sheet until the contest director calls for them.  Thank you.

